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01 Automata
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02 Definition

« State
disMoney
lampState — 10EA
exitCan — 5EA
exitCup — 5EA
0_50,0.100,0_500,0_1000

* Transition Label
- actMoney : 0, i_50, i_100, i_500, i_1000
- menuButton — 10EA
- refundButton
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03 Property

test0 : SPEC AGEX 1; : DeadlLock A=

testl . SPEC AG(totalMoney = 1200 & ~tmp1000 & refundButton & menuButton[1] &
actMoney = 0 & ~(menuButton[2] | menuButton[3] | menuButton[4] | menuButton[5] |
menuButton[6] | menuButton[7] | menuButton[8] | menuButton[9] | menuButton[10])

-> AX(disMoney = 0 & exitCup = 0 & 0. .50 = 0 & 0.100 = 2 & 0_.500 = 2 & 01000 = 0));
= A 8i0] 12003 S F Tt HEfoAM BtetH =D SEHE SA|0| +2H

Ct2 &EfOIM S 2= LIRX| @0 =2 500 27(, 100 2717t Bt=to| T/

EolZoe 0glo| gLt

test2 : SPEC AG(totalMoney = 450 & menuButton[6] & ~refundButton & actMoney = 0 &
~(menuButton[1] | menuButton[2] | menuButton[3] | menuButton[4] | menuButton[5] |
menuButton[7] | menuButton[8] | menuButton[9] | menuButton[10])

-> AX(disMoney = 450 & exitCan = 0));

= 4503 F ot HEfOA 500 R 2R S22 HEZ +& Al L2 HEHl= B3t

test3 : SPEC AG(totalMoney = 700 & menuButton[1] & menuButton[7] & ~refundButton &
actMoney = 0 & ~(menuButton[2] | menuButton[3] | menuButton[4] | menuButton[5] |
menuButton[6] | menuButton[8] | menuButton[9] | menuButton[10])

-> AX(disMoney = 700 & exitCan = 0 & exitCup = 0));

700 Fot HEf0A HFHE FHE SAI0 78 Al TS dEf= B2t 82




03 Property

test4 . SPEC AG(totalMoney = 500 & cupStock[1l] = 0 & menuButton[4] & ~refundButton &
actMoney = 0 & ~(menuButton[1] | menuButton[2] | menuButton([3] | menuButton[5] |
menuButton[6] | menuButton[7] | menuButton[8] | menuButton[9] | menuButton[10])

-> AX(disMoney = 500 & exitCup = 0));

:: 5008 F= ot HEO|A cupStock[1l] M =7t StLtx: gl M & 0wt 2HE HHES =5 Al Cf

—_ = —
MEj= Hot QIS

test5 : SPEC AG(totalMoney = 0 & menuButton[9] & ~refundButton & actMoney = 0 &
~(menuButton[1] | menuButton[2] | menuButton[3] | menuButton[4] | menuButton[5] |
menuButton[6] | menuButton[7] | menuButton[8] | menuButton[10])

-> AX(disMoney = 1000));

e 2 2 4Y0M HES 72 Al O dEi0l= HEO siYdt= M2l 0| EA|E.

test6 : SPEC AG(totalMoney = 1200 & canStock[5] = 2 & menuButton[10] & ~refundButton &
actMoney = 0 & ~(menuButton[1] | menuButton[2] | menuButton[3] | menuButton[4] |
menuButton[5] | menuButton[6] | menuButton[7] | menuButton[8] | menuButton[9])

-> AX(disMoney = 0 & exitCan = Can_5 & state = initial));

: 1200) F o HEfOA] M7 X7t JS I HES +F Al Ch2 HEI0M U2 0/ =
HSEHA initial 4 E7F £| 1 5t Ol7F S 70AM L.




03 Property

test7 . SPEC AG(totalMoney = 4050 & actMoney = i_1000 & ~refundButton & ~(menuButton[1]
| menuButton[2] | menuButton[3] | menuButton[4] | menuButton[5] | menuButton([6] |
menuButton[7] | menuButton[8] | menuButton[9] | menuButton[10])

-> AX(disMoney = 4050 & o0_1000 = 1));

1 4050 F ot HEfOf A 1000@R2|E =7t FSHH CHE HEHO| A disMoney= FXA|E|HA =7t
EQI5t 1000212 gt

test8 : SPEC AG(totalMoney = 500 & cupStock[1l] = 1 & menuButton[5] & ~refundButton &
actMoney = 0 & ~(menuButton[1] | menuButton[2] | menuButton([3] | menuButton[4] |
menuButton[6] | menuButton[7] | menuButton[8] | menuButton[9] | menuButton[10])

-> AX(disMoney = 200 & exitCup = Cup_5 & lampState[l] = err & lampState[2] = err &
lampState[3] = err & lampState[4] = err & lampState[5] = err));

:: 5000 FRE[0{UL cupStock[1] o R 17t StL HRUS Al S5H HES =EH CHS HEHO|A
200@0| H S HE0| siF = &F0| LD cupStock[1]e] X =7t HRot 1~58 O =2
lampState= 25 err&tEf7F E.

test9 : SPEC AG(totalMoney = 150 & lampState[1l] = err & menuButton[1] & ~refundButton &
actMoney = 0 & ~(menuButton[2] | menuButton[3] | menuButton[4] | menuButton[5] |
menuButton[6] | menuButton[7] | menuButton[8] | menuButton[9] | menuButton[10])-

> AX(disMoney = 150 & exitCup = 0));

i 25030 =[O AL lampState[1]0] errJE S U 1M HES FEB LS o Ho} SIS




03 Property — testO

testO : SPEC AG EX 1; :: DeadLock A=

File Prop View Goto History Abstraction
B | Properties | k: Cone | using | Groups |
Al results ﬂ

Property | Result | Time
test0 tue Mon May 04 10:10:58 eiSi3 29 iS011% 2015

Source | Trace | Log |

File

A model checking problem isomorphic to this one has been solved in the past,

Model checking will be skipped.
To prevent this, use —force, of remove .smv history.

04
Q

data segment 3ize....

Property: test0




03 Property - testl

testl . SPEC AG(totalMoney = 1200 & ~tmp1000 & refundButton & menuButton[1] &
actMoney = 0 & ~(menuButton[2] | menuButton[3] | menuButton[4] | menuButton[5] |
menuButton[6] | menuButton[7] | menuButton[8] | menuButton[9] | menuButton[10])

-> AX(disMoney = 0 & exitCup = 0 & 0. 50 = 0 & 0.100 = 2 & 0_.500 = 2 & 0_1000 = 0));

File Prop View Goto History Abstraction
fState \

Browser | Properties | Results | Cone | Using | Groups |

- 1 = ) _g O _6|- All results g
disMoney = 1200 ( 10009l AFg ©Fg}) — _
ltest1 trug Thu Apr 30 21,0447 sislEE 22 iSLI% 2015

Transition label

refundButton
menuButton[1]

Source | Trace | Log |

1 - =
R B NG RO 11 LS A DR 1 AL SR R SRS 1 AT SO SR TSR SR SR A SO SR TSR A 0.0824004 =
ode: ecking ©

uuuuu Ry 8 8 1SS LR A S S S SR R TR R S A SR SR LRI SR T e T P A
T 0 S5 S PO PO PO F OB P PO RO PO SO B RO PO P SO P PR RGP R PO 0.0780005 s

Model checking results

disMoney = 0 st AR
eXltCup = 0 aaaaa T e I A T P e e oo s e 61.1524 s
A B BT, T 015505 - RIS ALAD1AT LA A AL TS8R AT S8 S S T TS A A A A S TSR 0.0780005 s
050=0 s
O 100 = 2 aaaaa T S R SRR e O R e 61.1524 =
- st S R R R S RS SR R 0.0780005 8
500 — 2 D DO S L VO el wil sl silmiolmlolwlolwlolslellalalsla sa s e Sa S ST SRS R[S STl Tl T 1784859
o_ = R e e ‘
0_1000 - O Property: test1




03 Property - testl

testl . SPEC AG(totalMoney = 1200 & ~tmp1000 & refundButton & menuButton[1] &
actMoney = 0 & ~(menuButton[2] | menuButton[3] | menuButton[4] | menuButton[5] |
menuButton[6] | menuButton[7] | menuButton[8] | menuButton[9] | menuButton[10])

-> AX(disMoney = 50 & exitCup = 0 & 0. 50 = 0 & 0.100 = 2 & 0_.500 = 2 & 0_1000 = 0));

f File Prop View Goto History Abstraction
State \

Browser | Properties | Results |gone| Using | :Qmups.l

- disMoney = 1200 ( 1000 At ©¢tgt) W;m;nllm = 3| _ |

Transition Iabel ltest2 false Thu Apr 30 22:37:12 eiSliE =Y IS4 2016

- refundButton
- menuButton[1]

-
Source | Trace | Log |

File Edit Run View
50 P TR = 7 7
= JI= Ml 1= UL / Ul | A
i_500 i100 (0 o
0 |50 lzz0 a3 leso | | I ] I

disMoney = 0 ( 50)
exitCup = 0
050=0

0_100 = 2

0. 500 =2

0.1000 =0




03 Property — test2

test2 : SPEC AG(totalMoney = 450 & menuButton[6] & ~refundButton & actMoney = 0 &
~(menuButton[1] | menuButton[2] | menuButton[3] | menuButton[4] | menuButton[5] |
menuButton[7] | menuButton[8] | menuButton[9] | menuButton[10])

-> AX(disMoney = 450 & exitCan = 0));

f \ File Prop View Goto History Abstraction
State

Browser | Properties | Results | Cone | Using | Groups |
- disMoney = 450 I —

Property | Resuit | Time
lest? true. Thu Apr 30 22 1913 siliE 22 (S0 2015

Transition label
- menuButton[6] ( 5S00¥IKIZ| ZHEZF )

k Source | Trace | Log |

T AT sox s i 5 B S (54 i R R R R S 53 (53 0 0 R R R S S B e e R 23.2753 3

=
SYSCEM TAME . o o s eisoiseisaasasssssssssssssssssassssssssssssssasasasassass 0.109201 s
State Model checking results

_ diSMoney — 450 See_ fllawmmngwam.fﬂ:“mmgs .......................................
- exitcan = O uuuuu TS s o i i R S G543 S e (R R R R B (e e R R R R R S 23.2753 8

SHURALEI L0 o s = s 1 S e 0 8 R R 1 (B4 (55 (543 15 0 R 1 R B 3 S e e R 0.109201 s

................................ 23.2753 s
0.109201 s




03 Property — test2

test2 : SPEC AG(totalMoney = 450 & menuButton[6] & ~refundButton & actMoney = 0 &
~(menuButton[1] | menuButton[2] | menuButton[3] | menuButton[4] | menuButton[5] |

menuButton[7] | menuButton[8] | menuButton[9] | menuButton[10])
-> AX(disMoney = 450 & exitCan = Can_1));

f \ File Prop View Goto History Abstraction

state gmmier | F!'g_pzliies | Results |gone| Usfgg | :Qmups.l
. B T a—

- disMoney = 450 o Time [

Transition label —_—
- menuButton[6] ( 500&¥K2| ZHE =)

N

-_f
Source | Trace | Log |
File Edit Run View
: e 3 il g l T
u iilﬂﬂ: u ] T ] il
50 lasa  |as Tase | | i 1 i

- disMoney = 450
- exitCan =0 (Can_1)

/State




03 Property - test3

test3 : SPEC AG(totalMoney = 700 & menuButton[1] & menuButton[7] & ~refundButton &
actMoney = 0 & ~(menuButton[2] | menuButton[3] | menuButton[4] | menuButton[5] |
menuButton[6] | menuButton[8] | menuButton[9] | menuButton[10])

-> AX(disMoney = 700 & exitCan = 0 & exitCup = 0));

f \ File Prop View Goto History Abstraction
State

W|ﬁigperﬁbs[m1_qom|usm-|§mpﬁ|

. _ Al results. £
- disMoney = 700 i e
testd true Thu Apr 30 73:02:33 sisizE LA (S 511% 2015

Transition label

- menuButton[1] ( 150&%2| &
- menuButton[7] ( 700& Xt2| 7H

- =

diSMoney = 700 See file "Vending.warn" for warnings.
exitCan = 0 Bidbain . S0
exitCup = 0

=& )
== )

4

3yt 3

odel checki:

sez s
\ T Lrorn T AT s ooy s o g S g s g 0.873606 3

Model checking results

T B e e e e e e e e e

e T e 0.873606

i-search|




03 Property - test3

test3 : SPEC AG(totalMoney = 700 & menuButton[1] & menuButton[7] & ~refundButton &
actMoney = 0 & ~(menuButton[2] | menuButton[3] | menuButton[4] | menuButton[5] |
menuButton[6] | menuButton[8] | menuButton[9] | menuButton[10])

-> AX(disMoney = 0 & exitCan = Can_2 & exitCup = Cup_1));

f \ File Prop View Goto History Abstraction
State

W|P@peﬁes[ﬁ]_qom|usm|gmpsl

- disMoney = 700 Cr=T—

property | Result | Time

|
.. testd false Thu Apr 30 23:04.22 siSiz 2 E IS LY 2015
Transition label

- menuButton[l] ( 150¥&2| H 2&8)
- menuButton[7] ( 700/ XI2| 7H S & )

/ Source | Trace | Log |

A

File Edit Run View
I ES a3 4 ] ] [
i
o 1000 700 700
g 0 o |

~

disMoney = 700 (0)

exitCan = 0 (Can_2)

exitCup = 0 (Cup_1)

Property: testd




03 Property - test4

test4 . SPEC AG(totalMoney = 500 & cupStock[1l] = 0 & menuButton[4] & ~refundButton &
actMoney = 0 & ~(menuButton[1] | menuButton[2] | menuButton([3] | menuButton[5] |
menuButton[6] | menuButton[7] | menuButton[8] | menuButton[9] | menuButton[10])

-> AX(disMoney = 500 & exitCup = 0));

fState

- disMoney = 500
- cupStock[1] = 0
Transition label
- menuButton[4] ( 250&¥K2| & =27 )

N

~

- =

/State

- disMoney = 500
- exitCup =0

File Prop View Goto History Abstraction
Browser | Properties | Resutts | Gone | Using | Groups |
[rresuis 3|

Property | Result | Time

testd true Fri May 01 11:03.03 eiSiig £/ iSp11% 2015

Ssource | Trace | Log |

43.669503

uuuuu B 5225261316151 101 41 638154013 e B B S B s B B B R s e e e SR T
EF AP T U 00 5214615415 12 3 4 484 38140101535 1544453814815 5035 B B R SR B 0.421203 =5
Model checking results

B8 i 427 1 A8 3 221 2R 41 B s g R e true

See file "Vending.warn" for warnings.

uuuuu O i R e A e R e i e e e i e s ot i i e Rk 2 OF
O I R L i a2 A R el e e A B S 0.421203 =

.................................... 43.7781 =




03 Property - test4

test4 . SPEC AG(totalMoney = 500 & cupStock[1l] = 0 & menuButton[4] & ~refundButton &

actMoney = 0 & ~(menuButton[1] | menuButton[2] | menuButton([3] | menuButton[5] |
menuButton[6] | menuButton[7] | menuButton[8] | menuButton[9] | menuButton[10])

-> AX(disMoney = 250 & exitCup = Cup_4));

fState

- disMoney = 500
- cupStock[1] = 0
Transition label

- menuButton[4] ( 250¥IK2| H 2&7)

N

~

4

- =

/State

- disMoney = 500 ( 250)
- exitCup =0 (Cup_4)

~

File Prop View Goto History Abstraction

Browser | Properties I Results | Cone | Using | Groups |
[All results |

Property | Resuit | Time [

testd false Fii May 01 11:06:56 sigi3E 22! (B L1 2015

Sourca | 2recs | [Lon]]

File Edit Run View




03 Property - test5

test5 : SPEC AG(totalMoney = 0 & menuButton[9] & ~refundButton & actMoney = 0 &
~(menuButton[1] | menuButton[2] | menuButton[3] | menuButton[4] | menuButton[5] |

menuButton[6] | menuButton[7] | menuButton[8] | menuButton[10])
-> AX(disMoney = 0));

fState

N

disMoney = 0

Transition label

menuButton[9] ( 1000&¥ X2 4 2= )

~

- =

/State

disMoney = 1000 ( 0)

File Prop View Goto History Abstraction

Browser | Properties | Results gonel Using | Groups |
[All results g

Property | Result | Time

tests false  FriMay 01 1124:39 eiSliz 2 iS00 2015

File Edit Run View

Property: tests




03 Property - test5

else ifi{menuButton[&8])

nextistate) := initial;
_ g of next({totalMoney) := totallMoney - 788;
_'_x."AI- next(disMoney) := totalMoney - 788;
:I.OH Ol 0|E|_| Aol-EHO-”A-I E% exitSystem();
3
F©
|n|t|a| AI'EHE I:||"-‘|1|X| OFOAE. else if({menuButton[9])
.[
if(totalMoney = 1888) next(state) := initial:)
- next({totalMoney) := totalMoney - 1868;
o ... . next(disMoney)} := totalMoney - 1868,
$ El[:— iﬂ?ﬂ Al initial {\JEHE tlﬂgl_l- exitSystem();
3
else ifimenuButton[l@])
i
if(totalMoney = 1288) next(state) := initiall)
next(totalMoney) := totalMoney - 12886;
next(disMoney) := totalMoney - 1288,
exitsystem();
T




03 Property - test5

test5 : SPEC AG(totalMoney = 0 & menuButton[9] & ~refundButton & actMoney = 0 &
~(menuButton[1] | menuButton[2] | menuButton[3] | menuButton[4] | menuButton[5] |
menuButton[6] | menuButton[7] | menuButton[8] | menuButton[10])

-> AX(disMoney = 1000));

f \ File Prop View Goto History Abstraction
State

Browser | Properties | Results | Cone | Using | Groups |

- disMoney = 0 A E

Property | Result | Time |

Transition label =
- menuButton[9] (1000 X}t2| ZH &)

K source | race | Log |

File
reached states BDD siz
£l i ....237.182 s
sys ime. . . -+0,0936006 s
= -

237.182 5
/ e N NN 0.124801 s

Model checking results

- disMoney = 1000 A OO

See file "Vending.warn" for warnings.

Property: tests




03 Property - test5

test5 : SPEC AG(totalMoney = 0 & menuButton[9] & ~refundButton & actMoney = 0 &
~(menuButton[1] | menuButton[2] | menuButton[3] | menuButton[4] | menuButton[5] |

menuButton[6] | menuButton[7] | menuButton[8] | menuButton[10])
-> AX(disMoney = 0));

f \ File Prop View Goto History Abstraction
State

er | Properties | Results | cone | Using | Groups |
. _ Al resilts |
- disMoney = 0 | Time [

Transition Iabel tests false Fri May 01 11:38:25 eiSi s 22 IS 1% 2015
- menuButton[9] ( 1000&X2| Z 2& )

K Soures || Trace | Log | i

File Edit Run View
- = e = e — —
1 S 0

- disMoney = 0 ( 1000 )

/State




03 Property - test6

test6 : SPEC AG(totalMoney = 1200 & canStock[5] = 2 & menuButton[10] & ~refundButton &
actMoney = 0 & ~(menuButton[1] | menuButton[2] | menuButton[3] | menuButton[4] |
menuButton[5] | menuButton[6] | menuButton[7] | menuButton[8] | menuButton[9])

-> AX(disMoney = 0 & exitCan = Can_5 & state = initial));

fState

- disMoney = 1200
- canStock[5] = 2

Transition label
- menuButton[10] ( 1200&Xt2| Z4 &)

~

4

- =

disMoney = 0
exitCan = Can_5
state = initial

~

File Prop View Goto History Abstraction
Browser | Properties | Resuits | Cone | Using | Groups |

Al results- &

Property | Result | Time

testé true Fri May 01 12:2347 siSE 22 iS4 2015

........................... 0.312002 s
Model checking t 4.208874

uuuuu R o e i e R
C . el T © 0.327602
Model checking results

P e true

See file "Vending.warn" for warnings.

uuuuu N s st e e aseseas e R s s s a st e s e s s S TR
CET B S S e e s e e e 0.327602

Resources used

............................ 4.34727 =
...0.327602 =




03 Property - test6

test6 : SPEC AG(totalMoney = 1200 & canStock[5] = 2 & menuButton[10] & ~refundButton &
actMoney = 0 & ~(menuButton[1] | menuButton[2] | menuButton[3] | menuButton[4] |
menuButton[5] | menuButton[6] | menuButton[7] | menuButton[8] | menuButton[9])

-> AX(disMoney = 1200 & exitCan = Can_5 & state = initial));

f \ File Prop View Goto History Abstraction
State

g_rowser'l Prgpemesl Results | _gorle—l Using | Groups |

- disMoney = 1200 T

Property | Result | Time

_ ca nStOCk[S] — 2 testt false  FriMay 01122551 eislsp 2% S0 zo_a.a.l

Transition label
- menuButton[10] ( 1200&Xt2| Z4 &)

\_ - ] - [

- =

/State \

- disMoney = 0 ( 1200)
- exitCan = Can_5
- state = initial




03 Property — test7/

test7 . SPEC AG(totalMoney = 4050 & actMoney = i_1000 & ~refundButton & ~(menuButton[1]
| menuButton[2] | menuButton[3] | menuButton[4] | menuButton[5] | menuButton([6] |
menuButton[7] | menuButton[8] | menuButton[9] | menuButton[10])

-> AX(disMoney = 4050 & o0_1000 = 1));

File Py View Goto History Abstraction
fState ) = —

Browser | F_lg_pmﬁes | Results |gone| Using | Groups |

. _ [Airesis %
- disMoney = 4050 e L

Property | Result | Time |
test? true Fri May 01 12.69.57 eisiif 28 iS L% 2015

Transition label
- actMoney = i_1000

File

T 1018 -

5 2

ser ti 28 =

- BN e S S S S S 0.0312002 =

Model checking T 38.329¢48

::::: M5 s S S e S S g DO UG08 S
/ g E e Lo Co Ut L et 0.0468003 3

State Model checking results

a diSMoney — 4050 :::Lfllgwanmgwﬁm"for .....................................................
- 0_1000 = 1 ::::: B A A AR A PR R AR 38.4698 =

e = & S 0.0468003 =

iResources used

user
ENE

(BDD nodes al
data segment

Property: test?




03 Property — test7/

test7 . SPEC AG(totalMoney = 4050 & actMoney = i_1000 & ~refundButton & ~(menuButton[1]
| menuButton[2] | menuButton[3] | menuButton[4] | menuButton[5] | menuButton([6] |

menuButton[7] | menuButton[8] | menuButton[9] | menuButton[10])
-> AX(disMoney = 4050 & o0_1000 = 1));

fState

\ File Prop View Goto History Abstraction
Browser | F!;g_pnnies | Results |gone| Using | gmups.l
disMoney = 4050 At &
roperty | Result |
Transition label

ltest? false:

Time |
Fri May 01 13:00:44 &Sl 2% iS00 2015

actMoney = i_1000

N

File Edit Run View
i 1000 7 0
] 50 5
0

disMoney = 4050
- 0.1000=1(0)

/State

IProperty: test7




03 Property — test8

test8 : SPEC AG(totalMoney = 500 & cupStock[1l] = 1 & menuButton[5] & ~refundButton & actMoney
= 0 & ~(menuButton[1] | menuButton[2] | menuButton[3] | menuButton[4] | menuButton[6] | menuButton([7]
| menuButton[8] | menuButton[9] | menuButton[10])

-> AX(disMoney = 200 & exitCup = Cup_5 & lampState[1l] = err & lampState[2] = err & lampState[3]
= err & lampState[4] = err & lampState[5] = err));
File Prop View Goto History Abstraction Help
KState \ Browser | Properties | Results | Gone | Using | Groups |

- disMoney = 500 T

Property | Result | Time [

_ cu p St ocC k [ 1] = 1 test8 true Fri May 01 14:06:46 SiSl:E 2D (2011% 2015

Transition label
- menuButton[5]

source | Trace | Log |

File
L model checking problem isomorphic to this one kas been solved in the past.
Model checking will be skipped.
To prevent this, use -force, Or remove .smv_history.

L R e e e e e 0.171601 s
T S e R 9=

disMoney = 200 TR
exitCup = Cup_S :s:: r.l:e ............................................................. u.171601:
lampState[1] ~ [5] = err




03 Property — test8

test8 : SPEC AG(totalMoney = 500 & cupStock[1l] = 1 & menuButton[5] & ~refundButton & actMoney
= 0 & ~(menuButton[1] | menuButton[2] | menuButton[3] | menuButton[4] | menuButton[6] | menuButton([7]
| menuButton[8] | menuButton[9] | menuButton[10])

-> AX(disMoney = 200 & exitCup = Cup_5 & lampState[1] = on & lampState[2] = on & lampState[3]
= off & lampState[4] = off & lampState[5] = off));

fState

File Prop View Goto History Abstraction

Browser | Properties | Results | Cone | Using | Groups |

. B |
- disMoney = 500 i | = I
_ CUpStOCk[l] — 1 test8 false  FriMay 01140236 sighg 29 ZLU% 2015
Transition label

- menuButton[5]

Help

Soue | 2re0e |[Low |

File Edit Run View

disMoney = 200
exitCup = Cup_5
lampState[1] ~ [2] = err (on)
lampState[3] ~ [5] = err ( off )




03 Property - test9

test9 : SPEC AG(totalMoney = 150 & lampState[1] = err & menuButton[1] & ~refundButton &
actMoney = 0 & ~(menuButton[2] | menuButton[3] | menuButton[4] | menuButton[5] |
menuButton[6] | menuButton[7] | menuButton[8] | menuButton[9] | menuButton[10])-

> AX(disMoney = 150 & exitCup = 0));

fState

- disMoney = 150

- lampState[1] = err
Transition label

- menuButton[1]

N

~

- =

/State

- disMoney = 150
- exitCup =0

File Prop View Goto History Abstraction

or | Properties | Resutts | Cone | Using | Groups |
O —

property | Result | Time

testd. true Fri May 01 14:13:40 siSisd 22 iSLIH 2015

........................... 0.124801 s
Model checking T 20.897735

uuuuu RTS8 L p R ESE
Lo T T 0 T e e r e e e e T 0.140401 s
Model checking results

ot T o S S S e e S e S sy

See file "Vending.warn" for warnings.

uuuuu G et 4 B8
C T 0.140401 s

uuuuu i e e e e e B B
(AT TR 2 ST e e e e e 0.140401 s




03 Property - test9

test9 : SPEC AG(totalMoney = 150 & lampState[1] = err & menuButton[1] & ~refundButton &
actMoney = 0 & ~(menuButton[2] | menuButton[3] | menuButton[4] | menuButton[5] |

menuButton[6] | menuButton[7] | menuButton[8] | menuButton[9] | menuButton[10])-
> AX(disMoney = 0 & exitCup = 0));

fState

\ File Prop View Goto History Abstraction

Browser | Properties | Results | Cone | Using | Groups |
- disMoney = 150 e 4
- lampState[1] = err

F i;_e_suﬂl
Transition label
- menuButton[1]

Time

Fri May 01 14:17:52 aisisp 28 S 11% 2015

N

Source | Irace | Log |

File Edit Run View
- : o
o

- disMoney = 150 (0)
- exitCup =0

/State

Property: tests




